Understanding 4-digit Numbers on the Abacus J

An abacus is a tool used for counting and performing arithmetic operations. It
consists of a rectangular frame with rods or wires, and each rod contains beads. The
beads are moved along the rods to represent numbers. The abacus is divided into
place values such as ones, tens, hundreds, and thousands.

Understanding 4-Digit Numbers on the Abacus

A 4-digit number on the abacus is represented by placing beads in each of the four
places:

e Thousands place
e Hundreds place
e Tens place
e Ones place

Each place value represents a different value, and the number of beads in each place
corresponds to that value.

How to Read a 4-Digit Number on the Abacus

e The rightmost rod represents the ones place. The number of beads in this rod
tells you how many ones are in the number.

e The second rod represents the tens place. Each bead here represents a ten.

e The third rod represents the hundreds place. Each bead here represents a
hundred.

e The leftmost rod represents the thousands place. Each bead here represents a
thousand.

For example, if the abacus shows:

3 beads in the thousands place,

2 beads in the hundreds place,

4 beads in the tens place,

The number represented is 3,241.

1 bead in the ones place,
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Properties of 4-Digit Numbers on the Abacus

The abacus helps in visualizing the place values of digits in a 4-digit number.

The number of beads in each place determines the value of that place (ones,
tens, hundreds, thousands).

Moving the beads on the abacus allows us to add or subtract digits easily.

The abacus can help in understanding the concept of place value in a hands-on
way.

Example 1

Question: What number is represented by the abacus with 4 beads in the thousands
place, 3 beads in the hundreds place, 2 beads in the tens place, and 5 beads in the

ones place?

Solution:

4 beads in the thousands place = 4,000
3 beads in the hundreds place = 300
2 beads in the tens place = 20

5 beads in the ones place =5

So, the number represented is:

4,000 + 300 + 20 + 5 =4,325.

Answer: The number is 4,325.

Example 2

Question: What number is represented by the abacus with 1 bead in the thousands
place, 2 beads in the hundreds place, 3 beads in the tens place, and 4 beads in the

ones place?

Solution:

1 bead in the thousands place = 1,000
2 beads in the hundreds place = 200
3 beads in the tens place = 30

4 beads in the ones place = 4

So, the number represented is:

1,000 + 200 + 30 +4 =1,234.

Answer: The number is 1,234.
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Summary Points

e An abacus is a useful tool for understanding place values and forming 4-digit
numbers.

e Each rod on the abacus represents a different place value: thousands,
hundreds, tens, and ones.

e The number of beads on each rod shows the value of that place.

e By moving beads, we can easily represent, read, and manipulate 4-digit

numbers.




